The sun
Answer:

Al

brightly in the sky.

Answer:

raining heavily yesterday.

We
Answer:

a picnic in the park.

She
Answer:

a sweater because it's cold outside.

My family
Answer:

to the beach for vacation.

They
Answer:

a lot of snow in the winter.

He
Answer:

his umbrella to protect himself from the rain.

Answer:

the weather forecast every morning.

The wind
Answer:

softly through the trees.

We
Answer:

to go swimming in the lake.




Answers

The sun brightly in the sky.
Answer: shines

It raining heavily yesterday.
Answer: was

We a picnic in the park.
Answer: had
She a sweater because it's cold outside.

Answer: wears

My family to the beach for vacation.

Answer: goes

They a lot of snow in the winter.
Answer: get
He his umbrella to protect himself from the rain.

Answer: carries

I the weather forecast every morning.

Answer: check

The wind softly through the trees.
Answer: blows

We to go swimming in the lake.

Answer: want



